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NEW QUESTION 1
Which of the following might the Scrum Team discuss during a Sprint Retrospective?

A. Methods of communication.

B. The way the Scrum Team does Sprint Planning.

C. Skills needed to improve the Development Team’s ability to deliver.
D. Its Definition of “Done”.

E. All of the above.

Answer: E

NEW QUESTION 2
In accordance with Scrum theory, how should a group of 100 people be divided into multiple Development Teams?

A. Understanding the product, the product vision and the rules of the Scrum framework, the group divides itself into teams.
B. It doesn't really matter because you can rotate the teams every Sprint to spread knowledge.

C. Check with the allocation department to see who has worked together before and make these the first teams.

D. Create a matrix of skills, seniority, and level of experience to assign people to teams.

Answer: A

NEW QUESTION 3
What are three ways Scrum promotes self-organization? (Choose three.)

A. By not allowing documentation.

B. By the Development Team deciding what work to do in a Sprint.
C. By preventing stakeholders from entering the development room.
D. By removing titles for Development Team members.

E. By being a lightweight framework.

Answer: BDE

NEW QUESTION 4
What is the purpose of a Sprint Review?

A. To take time to judge the validity of the project.

B. To inspect the product increment with the stakeholders and collect feedback on next steps.
C. To review the Scrum Team'’s activities and processes during the Sprint.

D. To build team sprint.

Answer: B

NEW QUESTION 5
Which of the following is required by Scrum? (Choose all that apply.)

A. Sprint Retrospective.

B. Members must be stand up at the Daily Scrum.
C. Sprint Burndown Chart.

D. Release planning.

E. All of the above.

Answer: A

NEW QUESTION 6
When does the second Sprint start?

A. Once the architectural changes for the second Sprint have been approved by the senior architect.
B. After the Product Backlog for the second Sprint has been selected.

C. Immediately after the first Sprint.

D. After the customer completes acceptance testing of the first Sprint.

Answer: C

NEW QUESTION 7

When many Development Teams are working on a single product, what best describes the definition of “Done”? (Choose the best answer.)
A. Each Development Team defines and uses its ow

B. The differences are discussed and reconciled duringa hardening Sprint.

C. It depends.

D. Each Development Team uses its own but must make their definition clear to all other teams so the differences are known.

E. All Development Teams must have a definition of “Done” that makes their combined work potentially releasable.

Answer: D
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NEW QUESTION 8
The Product Owner must release each Increment to production.

A. When it makes sense.

B. To make sure the Development Team is done every Sprint.
C. Whenever the product is free of defects.

D. Without exception.

Answer: A

NEW QUESTION 9
Which of the following are true about the Product Owner role? (Choose two.)

A. The Product Owner is one person.

B. The Product Owner is accountable for ordering the Product Backlog.

C. Multiple people can share the Product Owner role on a Scrum Team.

D. The Product Owner role can be played by a committee or a team of people.

Answer: AB

NEW QUESTION 10
During a Sprint Retrospective, for what is the Scrum Master responsible?

A. Prioritizing the resulting action items.

B. Participating as a Scrum team member and facilitating as requested or needed.
C. Acting as a scribe to capture the Development Team’s answers.

D. Summarizing and reporting the discussions to management.

Answer: B

NEW QUESTION 10

You have six teams using a traditional method to deliver a product. Your management has asked you to start using Scrum. In the initial project there were separate
plans and teams for the layers of a software system, i.e. one for the front-end, one for the middle tier, one for the back-end, and one for the interfaces and
services. This resembles what is known as component teams. But you have read that it's a good idea to have teams organized by feature.

What are the advantages of keeping component teams while starting Scrum?

A. There’s less initial disruption than organizing into new team

B. As they start, they will discover what works best, and how to potentially re-organize towards this.

C. Component teams generally have the skills needed to create a working Increment of software that provides business value.

D. Because they have worked together for some time, they are likely able to start producing shippable Increments faster that new feature teams would.
E. There are fewer cross-team dependencies than working in feature teams.

Answer: A

NEW QUESTION 11
When is a Sprint over?

A. When the Product Owner says it is done.

B. When all Product Backlog items meet their definition of “Done”.
C. When all the tasks are completed.

D. When the time-box expires.

Answer: D

NEW QUESTION 14

Every Development Team should have:

A. At least one representative from each major software engineering discipline (like QA, Dev, UX).
B. The competencies and skills needed to deliver a Done Increment in a Sprint.

C. One Lead Developer and no more than 8 other members.

Answer: B

NEW QUESTION 19

The Product Owner is not collaborating with the Development Team during the Sprint. What are two valuable actions for a Scrum Master to take? (Choose two.)
A. Inform the Product Owner’s functional manager.

B. Stop the Sprint, send the Product Owner to a course and restart.

C. Bring up the problem in the Sprint Retrospective.

D. Coach the Product Owner in the values of Scrum and incremental delivery.

E. Nominate a proxy Product Owner.

Answer: CD

NEW QUESTION 23

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure PSM-I dumps!
rJ CEI"tShEI,I"Ed https://www.certshared.com/exam/PSM-I/ (197 Q&AS)

How should a Development Team deal with non-functional requirements?

A. Ensure every Increment meets them.

B. Make sure the release department understands these requirements, but it is not the Development Team'’s responsibility.
C. Handle them during the Integration Sprint preceding the Release Sprint.

D. Assign them to the lead developers on the team.

Answer: A

NEW QUESTION 28
When many Scrum Teams are working on a single product, what best describes the Definition of Done? (Choose the best answer.)

A. Each Scrum Team defines and uses its ow

B. The differences are discussed and reconciled during a hardening Sprint.

C. The Scrum Masters from each Scrum Team define a common Definition of Done.

D. Each Scrum Team uses its own, but must make their definition clear to all other teams so the differences are known.
E. All Scrum Teams must have a Definition of Done that makes their combined work potentially releasable.

Answer: D

NEW QUESTION 33

A Scrum Master is keeping a list of open impediments, but it is growing and they have been able to resolve only a small portion of the impediments. Which two
techniques would be most helpful in this situation?

(Choose two.)

A. Discuss the impediments with the Development Team.
B. Prioritize the list and work on them in order.

C. Arrange a triage meeting with all project managers.

D. Add each open impediment to the Product Backlog.

Answer: AB

NEW QUESTION 37
What are three benefits of self-organization? (Choose three.)

A. Increased creativity.

B. Increased rule compliance.

C. Increased accuracy of estimates.
D. Increased self-accountability

E. Increased commitment.

Answer: ADE

NEW QUESTION 38
What are the two primary ways a Scrum Master keeps a Development Team working at its highest level of productivity? (Choose two.)

A. By ensuring the meetings start and end at the proper time.

B. By removing impediments that hinder the Development Team.
C. By facilitating Development Team decisions.

D. By keeping high value features high in the Product Backlog.

Answer: BC

NEW QUESTION 41

If two Scrum Teams are added to the development of a product that previously had only one Scrum Team, what will be the immediate impact on the productivity of
the original Scrum Team?

A. Its productivity is likely to decrease.

B. Its productivity is likely to stay the same.

C. Its productivity is likely to increase.

Answer: B

NEW QUESTION 44

When is it most appropriate for a Development Team to change the definition of “Done”?
A. During Spring Planning.

B. Prior to starting a new Sprint.

C. During the Sprint Retrospective.

D. Prior to starting a new project.

Answer: C

NEW QUESTION 46
Which statement best describes a Product Owner’s responsibility?
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A. Optimizing the value of the work the Development Team does.

B. Managing the project and ensuring that the work meets the commitments to the stakeholders.
C. Directing the Development Team.

D. Keep stakeholders from distracting the Development Team.

Answer: A

NEW QUESTION 47

A Development Team asks their Product Owner to re-order the Product Backlog. The team is waiting for an external supplier to deliver a specific software
component. Without that component there won't be enough work in the next Sprint to occupy the full team. The Product Owner asks the Scrum Master for help.
What would be good advice to give the Product Owner?

A. Remind the Product Owner that his primary concern is the flow of value reflected in the ordering of the Product Backlog.
B. Tell the Product Owner to re-order the Product Backlog so the work involving the external component can be planned in a separate sprint.
C. Tell the Product Owner that the Product Backlog should be ordered to maximize utilization of the Development Team.

Answer: A

NEW QUESTION 51
Which Scrum Values are exhibited by not building Product Backlog items that have low business value? (Choose three.)

A. Economic Value Added.
B. Respect.

C. Focus.

D. Earned Value.

E. Courage.

Answer: BCE

NEW QUESTION 55
Why does a Development Team need a Sprint Goal?

A. A Sprint Goal only gives purpose to Sprint 0.

B. Sprint Goals are not valuabl

C. Everything is known from the Product Backlog.

D. The Development Team is more focused with a common yet specific goal.

E. A Sprint Goal ensures that all of the Product Backlog items selected for the Sprint are implemented.

Answer: C

NEW QUESTION 56
What are two ways that architecture and infrastructure are handled in Scrum? (Choose two.)

A. They are discussed, determined, and documented before the actual feature development Sprints.

B. They are implemented along with functional development of the product.

C. They are added to the Product Backlog and addressed in early Sprints, while always requiring at least some business functionality, no matter how small.
D. They are built by a separate team through the creation of an architectural runway.

Answer: BC

NEW QUESTION 57
Which are NOT appropriate topics for discussion in a Sprint Retrospective? (Choose all that apply.)

A. Definition of “Done”.

B. How the team does its work.

C. Team relations.

D. The value of work currently represented in the Product Backlog.
E. Arranging the Sprint Backlog for the next Sprint.

Answer: AE

NEW QUESTION 60
Who has the final say on the order of the Product Backlog?

A. The Development Team.
B. The Product Owner.

C. The Scrum Master.

D. The Stakeholders.

E. The CEO.

Answer: B

NEW QUESTION 62
A Scrum Master is introducing Scrum to a new Development Team. The Development Team gas decided that a Sprint Retrospective is unnecessary. What action
should the Scrum Master take?
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A. Call a meeting between the Development Team and senior management.
B. Comply with the decision of the self-organizing team.

C. Consult with the Product Owner to see how he/she feels about the situation.
D. Begin facilitating productive and useful Sprint Retrospectives.

Answer: D

NEW QUESTION 63
What two factors are best considered when establishing the Sprint length? (Choose two.)

A. The organization has mandated similar length sprints.

B. The level of uncertainty over the technology to be used.
C. The frequency at which team formation can be changed.
D. The risk of being disconnected from the stakeholders.

Answer: BD

NEW QUESTION 68
Why should the Product Owner be present at the Daily Scrum?

A. He/She doesn't need to be there.

B. To hear about impediments in functionality.
C. To represent the stakeholders’ point of view.
D. To participate as a Scrum Team member.

Answer: A

NEW QUESTION 73
You are the Scrum Master on a newly formed Scrum Team. Which three of the following activities would probably help the team in starting up? (Choose three.)

A. Introduce a bonus system for the top performers in the team.

B. Have the Scrum Team members introduce themselves to each other and give a brief background of their skills and work history.

C. Have the development managers for each Development Team member introduce their direct reports and go over their responsibilities on the Scrum Team.
D. Ensure the Scrum Team members have compatible personalities.

E. Ensure the team understands they need a definition of “Done”.

F. Ask the Product Owner to discuss the product or project, its history, goals, and context, as well as answer questions.

Answer: BEF

NEW QUESTION 75

The IT manager asks a Development Team for a status report describing the progress throughout the Sprint. The Development Team asks the Scrum Master for
advice. The Scrum Master should:

(Choose the best answer.)

A. Talk to the IT manager and explain that progress in Scrum comes from inspecting an Increment at the Sprint Review.
B. Tell the Development Team to figure it out themselves.

C. Tell the Development Team to fit the report into the Sprint Backlog.

D. Create and deliver the report to the manager herself.

E. Ask the Product Owner to send the manager the report.

Answer: A

NEW QUESTION 80
Five new Scrum Teams have been created to build one product. A few of the developers on one of the Development Teams ask the Scrum Master how to
coordinate their work with the order teams. What should the Scrum Master do?

A. Teach the Product Owner to work with the lead developers on ordering Product Backlog in a way to avoid too much technical and development overlap during a
Sprint.

B. Teach them that it is their responsibility to work with the other teams to create an integrated Increment.

C. Collect the Sprint tasks from the teams at the end of their Sprint Planning and merge that into a consolidated plan for the entire Sprint.

D. Visit the five teams each day to inspect that their Sprint Backlogs are aligned.

Answer: C

NEW QUESTION 82

Which outcome is expected as Scrum Teams mature?

A. They will improve their definition of “Done” to include more stringent criteria.

B. The Sprint Retrospectives will grow to be longer than 4 hours.

C. There is no need for a time-boxed Sprint, since time-boxes are only for new Scrum Teams.
D. Sprint Reviews will no longer be needed.

E. A Scrum Master is no longer needed since they are a mature team now.

Answer: A

NEW QUESTION 83
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Select two ways in which technical debt impacts transparency. (Choose two.)

A. When calculated and estimated, the total amount of technical debt shows exactly how long until the Product Owner can release the Increment.
B. It leads to false assumptions about the current state of the system, specifically of an Increment being releasable at the end of a Sprint.
C. As development progresses and code is added, the system becomes more difficult to stabilize, which results in future work being slowed down in unpredictable

ways.

D. It enhances transparency for the Product Owner as a Development Team is not allowed to do additional feature development in a Sprint as long as there is

technical debt.

Answer: BC

NEW QUESTION 86

The length of a Sprint should be:

A. Short enough to keep the business risk acceptable to the Product Owner.

B. Short enough to be able to synchronize the development work with other business events.
C. No more than one calendar month.

D. All of these answers are correct.

Answer: D

NEW QUESTION 88

During a Sprint Retrospective, the Development Team proposes moving the Daily Scrum to only occur on Tuesdays and Thursdays. Which two are the most

appropriate responses for the Scrum Master? (Choose two.)

A. Consider the request and decide on which days the Daily Scrum should occur.

B. Coach the team on why the Daily Scrum is important as an opportunity to update the plan.

C. Have the developers vote.

D. Learn why the Development Team wants this and work with them to improve the outcome of the Daily Scrum.
E. Acknowledge and support the self-organizing team’s decision.

Answer: BD

NEW QUESTION 90
What is the tactic a Scrum Master should use to divide a group of 100 people into multiple Development Teams?

A. Create teams based on their skills across multiple layers (such as database, Ul, etc.)
B. Ask the Product Owner to assign the people to teams.
C. Ask the developers to divide themselves into teams.

Answer: C

NEW QUESTION 95
Which two of the following are true about the Scrum Master role? (Choose two.)

A. At the Sprint Review, the Scrum Master identifies what has been “done” and what has not been “done”.
B. The Scrum Master teaches the Development Team to keep the Scrum meetings to their time-box.

C. The Scrum Master helps those outside the team interact with the Scrum Team.

D. The Scrum Master assigns tasks to Development Team members when they need work.

E. The Scrum Master is responsible for updating the Sprint Burndown.

Answer: BD

NEW QUESTION 99
The time-box for a Daily Scrum?

A. Two minutes per person.

B. 15 minutes.

C. 15 minutes for a 4 week sprin

D. For shorter Sprints it is usually shorter.
E. 4 hours.

F. The same time of day every day.

Answer: B

NEW QUESTION 100

For which is the Scrum Master responsible?

A. Managing the performance of the Scrum Team.

B. The meetings and the objectives that a Scrum Team sets for itself.
C. The Scrum framework being adopted and used properly.

D. Keeping track of resource allocation.

Answer: C

NEW QUESTION 105
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Which two things should the Development Team do during the first Sprint? (Choose two.)

A. Make up a plan for the rest of the project.

B. Analyze, describe, and document the requirements for the subsequent Sprints.
C. Develop at least one piece of functionality.

D. Analyze, design, and describe the complete architecture and infrastructure.

E. Create an increment of potentially releasable software.

Answer: CE

NEW QUESTION 109

Why does the Product Owner want the Development Team to adhere to its definition of “Done”™?
A. To have complete transparency into what has been done at the end of each Sprint.

B. To be able to reprimand the team when they don’t meet their velocity goal for the Sprint.

C. To know what the team will deliver over the next three Sprints.

D. To predict the team’s productivity over time.

Answer: A

NEW QUESTION 113

The purpose of a Sprint is to produce a done Increment of product.

A. True
B. False

Answer: A

NEW QUESTION 115

A Development Team is required to deliver a done Increment by the end of a Sprint. Select two statements that explain what “Done” means. (Choose two.)

A. All work the Development Team is willing to do.

B. Ready for integration.

C. No work left from the definition of “Done”.

D. Whatever the Product Owner defines as quality.

E. All work to create software that is ready to be released to end users.

Answer: CE

NEW QUESTION 119
Every Scrum team must have a Product Owner and Scrum Master.

A. Tru

B. Outcomes affected by their participation and availability.

C. Fals

D. A Product Owner can be replaced by a business analyst in the Development Team.
E. Fals

F. A Scrum Master is only required when asked for by the Development Team.

G. Tru

H. Each must be 100% dedicated to the Scrum Team.

Answer: A

NEW QUESTION 120

Who is responsible for managing the progress of work during a Sprint?
A. The Scrum Master.

B. The Development Team.

C. The Product Owner.

D. The most junior member of the Team.

Answer: B

NEW QUESTION 123

When must a Product Owner release each Increment? (Choose the best answer.)
A. When it makes sense.

B. When the Scrum Team finishes their work.

C. Whenever the product is free of defects.

D. After every Sprint, Without exception.

Answer: A

NEW QUESTION 127
What is the recommended size for a Scrum Team? (Choose the best answer.)
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A. At least 7.

B.9

C. 10 or fewer.

D. 7 plus or minus 3.

Answer: C

NEW QUESTION 131
Who is responsible for engaging the stakeholders?

A. The Business Analyst.
B. The Development Team.
C. The Team Manager.

D. The Project Manager.

E. The Product Owner.

Answer: E

NEW QUESTION 133
Which two ways of creating Development Teams are consistent with Scrum’s values? (Choose two.)

A. Existing teams propose how they would like to go about organizing into the new structure.
B. Managers personally re-assign current subordinates to new teams.

C. Managers collaborate to assign individuals to specific teams.

D. Bring all the developers together and let them self-organize into Development Teams.

E. The Chief Product Owner determines the new team structures and assignments.

Answer: AD

NEW QUESTION 137
Who is accountable for tracking the remaining work toward the Sprint Goal? (Choose the best answer.)

A. The Developers.

B. The Scrum Master.
C. The Product Owner.
D. The Project Manager.

Answer: A

NEW QUESTION 138
Choose two responsibilities of a self-organizing Development Team. (Choose two.)

A. Reorder the Product Backlog.

B. Pull Product Backlog items for the Sprint.
C. Do the work planned in the Sprint Backlog.
D. Increase velocity.

E. Report daily progress to stakeholders.

Answer: BC

NEW QUESTION 143
Who should make sure everyone on the Development Team does his or her tasks for the Sprint?

A. The Project Manager.

B. The Product Owner.

C. The Scrum Master.

D. The Development Team.
E. All of the above.

Answer: D

NEW QUESTION 148

What is the best suited structure for Development Teams in order to produce integrated Increments?

A. Each Development Team works only one technical layer of the system (e.

B. GUI, database, middle tier, interfaces).

C. Each Development Team develops functionality from beginning to end throughout all technical layers.
Answer: B

NEW QUESTION 149

How much work must a Development Team do to a Product Backlog item it selects for a Sprint?

A. A proportional amount of time on analysis, design, programming, testing, and documentation.
B. As much as it can fit into the Sprin
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C. Any remaining work will be transferred to a subsequent Sprint.
D. All development work and at least some testing.
E. As much as it has told the Product Owner will be done for every Product Backlog item it selects in conformance with the definition of “Done”.

Answer: D

NEW QUESTION 151
Which topics should be discussed in the Sprint Review?

A. The Scrum process, and how it was used during the Sprint.
B. Coding and engineering practices.

C. Sprint results.

D. All of the above.

Answer: D

NEW QUESTION 156
The Scrum Master observes the Product Owner struggling with ordering the Product Backlog. What is an appropriate action for the Scrum Master to take?

A. Suggest the Product Owner extend the Sprint, so he can have more time to order the Product Backlog.

B. Suggest that the Development Team does the ordering to be sure that it is a feasible ordering of work.

C. Offer the Product Owner help in understanding that the goal of ordering the Product Backlog is to maximize value.

D. Present the Product Owner with an ordered Product Backlog to use.

E. Encourage the Product Owner to work with the Development Team to see which items technically are fastest to implement.

Answer: B

NEW QUESTION 157
What happens if the Development Team cannot complete its work by the end of the Sprint?

A. The Sprint is extended and future Sprints use this new duration.

B. The Sprint length holds and the Development Team continuously learns what is actually possible to do within a Sprint of this length.
C. The Sprint is extended temporaril

D. Lessons are taken to ensure it doesn’t happen again.

Answer: B

NEW QUESTION 159

Who should know the most about the progress toward a business objective or a release?

A. The Project Manager.

B. The Scrum Master.

C. The Development Team.

D. The Product Owner.

Answer: D

NEW QUESTION 162

How do you know that a Development Team is cross-functional?

A. Development Team has all the skills to create a potentially releasable increment by the end of every Sprint.
B. A few of the Development Team members pair program and do Test Driven Development.
C. There are no conflicts within the Development Team.

D. Every member of the Development Team is able to perform every task.

Answer: A

NEW QUESTION 164

Multiple Scrum Teams working on the same product or system all select work from the same Product Backlog.

A. True
B. False

Answer: A

NEW QUESTION 169

Which topics should be discussed in the Sprint Review? (Choose the best answer.)
A. The Scrum process, and how it was used during the Sprint.

B. Coding and engineering practices.

C. The product Increment.

D. All of the above.

Answer: C
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NEW QUESTION 174
What does it mean for a Development Team to be cross-functional?

A. The Development Team includes not only developers but also business analysts, architects, and testers.

B. The Development Team includes cross-skilled individuals who are able to contribute to do what is necessary to deliver an increment of software.
C. Developers on the Development Team work closely with business analysts, architects, developers and testers who are not on the team.

D. The Development Team is a virtual team drawing from separate teams of business analysts, architects, developers and testers.

Answer: B
NEW QUESTION 175
Which best describes the Product Backlog?

A. Itis allowed to grow and change as more is learned about the product and its customers.
B. It provides just enough information to enable a Scrum team to start the design phase of a product.

C. It contains all foreseeable tasks and requirements from which the Scrum team can develop and maintain a complete project plan.

D. It is baselined to follow change management processes.

Answer: A

NEW QUESTION 180
A Sprint Retrospective should be held:

A. At the end of each Sprint.

B. At the beginning of each Sprint.

C. Only when the Scrum Team determines it needs one.
D. At the end of the last Sprint in a project or a release.

Answer: A

NEW QUESTION 184
Who determines when it is appropriate to update the Sprint Backlog during a Sprint?

A. The Project Manager.

B. The Development Team.
C. The Scrum Team.

D. The Product Owner.

Answer: B

NEW QUESTION 188
Which three questions might be answered by Development Team members at the Daily Scrum? (Choose three.)

A. How is the Sprint proceeding?

B. What did | do yesterday that helped the Development Team meet the Sprint Goal?

C. Why were you late?

D. What will | do today to help the Development Team meet the Sprint Goal?

E. How many hours did | spend on the project yesterday?

F. What will | be working on tomorrow?

G. Do | see any impediment that prevents me or the Development Team from meeting the Sprint Goal?

Answer: BDG

NEW QUESTION 190

What is the accountability of the Product Owner during Sprint 0? (Choose the best answer.)

A. There is no such thing as Sprint 0.

B. Gathering, eliciting, and analyzing the requirements that will be inserted into the Product Backlog.

C. Make the complete project plan to commit date, budget, and scope to the stakeholders.

D. Determine the composition of the Development Teams so they have the capacity to deliver the completed forecast.
E. Make sure enough Product Backlog items are refined to fill the first 3 Sprints.

Answer: A

NEW QUESTION 194

Multiple Scrum Teams working on the same project must have the same Sprint start date.

A. True
B. False

Answer: B

NEW QUESTION 199
Which of the following services are appropriate for a Scrum Master in regard to the Daily Scrum?
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A. Lead the discussions of the Development Team.

B. Make sure that all 3 questions have been answered by each member of the team.

C. Keep track of whether each team member has a chance to speak.

D. Teach the Development Team to keep the Daily Scrum within the 15 minute time-box.
E. All of the above.

Answer: D

NEW QUESTION 201

When a Development Team determines that it will not be able to finish the complete forecast, who has to be present when reviewing and adjusting the Sprint work

selected? (Choose the best answer.)

A. The Development Team.

B. The Product Owner and all stakeholders.

C. The Product Owner and the Development Team.

D. The Scrum Master, project manager and Development Team.

Answer: A

NEW QUESTION 206
When might a Sprint be abnormally cancelled?

A. When the Development Team feels that the work is too hard.

B. When the Sprint Goal becomes obsolete.

C. When the sales department has an important new opportunity.

D. When it becomes clear that not everything will be finished by the end of the Sprint.

Answer: B
NEW QUESTION 209
What is the recommended size for a Development Team?

7 plus or minus 3.
At least 7.
9
3

A.
B.
C.9.
D.3to 9.

Answer: D

NEW QUESTION 213

A Development Team selects a set of Product Backlog items for a Sprint Backlog with the intent to get the selected items “Done” by the end of the Sprint. Which

three phrases best describe the purpose of a definition of “Done”? (Choose three.)

A. It controls whether the developers have performed their tasks.

B. It provides a template for elements that need to be included in the technical documentation.
C. It creates transparency over the work inspected at the Sprint Review.

D. It trucks the percent completeness of a Product Backlog item.

E. It guides the Development Team is creating a forecast at the Sprint Planning.

F. It defines what it takes for an Increment to be ready for release.

Answer: CDF

NEW QUESTION 217
How should Product Backlog items be chosen when multiple Scrum Teams work from the same Product Backlog?

A. The Scrum Team with the highest velocity pulls Product Backlog items first.

B. The Development Teams pull in work in agreement with the Product Owner.
C. The Product Owner should provide each team with its own Product Backlog.
D. Each Scrum Team takes an equal numbers of items.

E. The Product Owner decides.

Answer: B

NEW QUESTION 221

Which two of the following are appropriate topics for discussion during a Sprint Retrospective? (Choose two.)
A. Identifying high priority process improvements for the next Sprint.

B. The order of items in the Product Backlog.

C. How the team collaborates.

D. Documenting acceptance criteria for items in the next Sprint.

Answer: AC

NEW QUESTION 223
If burndown charts are used to visualize progress, what does a trend line through a release burndown chart indicate?
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A. The evolution of the cost spent on the project.

B. When all work will be completed to the Scrum Team can be released for other work.

C. When the work remaining will likely be completed if nothing changes on the Product Backlog or the Development Team.
D. When the project will be over if the Product Owner removes work that is equal in effort to any new work that is added.

Answer: C

NEW QUESTION 224
Which answer best describes the topics covered in Sprint Planning? (Choose the best answer.)

A. What to do and who will do it.

B. How conditions have changed and how the Product Backlog should evolve.
C. What can be done and how to do it, and why to do it.

D. What went wrong in the last Sprint and what to do differently this Sprint.

E. Who is on the team and what team member roles will be.

Answer: C

NEW QUESTION 227
Several Sprints into a project, the Product Owner tells the Scrum Master that a key stakeholder just started using the product. The stakeholder is unhappy with the
quality of the product. What are two good options for the Scrum Master? (Choose the best two answers.)

A. Wait to bring this up until the Sprint Retrospective.

B. Encourage the Product Owner to put quality specifications on the Product Backlog and express the stakeholder’s concern to the Developers.
C. Bring the concern to the testers to improve how the Product is verified.

D. Explain to the Product Owner that it is up to the Developers to decide on acceptable quality standards.

E. Coach the Product Owner on how to talk with the Developers about this concern.

Answer: BC

NEW QUESTION 232
How often should Development Team membership change?

A. As needed, while taking into account a short term reduction in productivity.
B. Never, because it reduces productivity.

C. As needed, with no special allowance for changes in productivity.

D. Every Sprint to promote shared learning.

Answer: A

NEW QUESTION 236
For the purpose of transparency, when does Scrum say a new increment of working software must be available?

A. After the acceptance testing phase.

B. Before the release Sprint.

C. Every 3 Sprints.

D. At the end of every Sprint.

E. When the Product Owner asks to create one.

Answer: D

NEW QUESTION 238
How much of the Sprint Backlog must be defined during the Sprint Planning event?

A. Just enough tasks for the Scrum Master to be confident in the Development Team’s understanding of the Sprint.

B. The entire Sprint Backlog must be identified and estimated by the end of the Sprint Planning meeting.

C. Enough so the Development Team can create its best forecast of what is can do, and to start the first several days of the Sprint.
D. Just enough to understand design and architectural implications.

Answer: C

NEW QUESTION 243
Which three purposes does the definition of “Done” serve? (Choose three.)

A. Guide the Development Team on how many Product Backlog items to select for the Sprint.
B. Create a shared understanding of when work is complete.

C. Describe the purpose, objective, and time-box of each Scrum event.

D. Describe the work that must be done before the Sprint is allowed to end.

E. Increase transparency.

Answer: BCD

NEW QUESTION 248
How do you know that a Scrum Team is cross-functional? (Choose the best answer.)
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A. Scrum Team has all the skills to create an increment by the end of every Sprint.

B. A few of the Development Team members pair program and do Test Driven Development.
C. There are no conflicts within the Scrum Team.

D. Every member of the Scrum Team is able to perform every task.

Answer: A

NEW QUESTION 249
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